CUADRO DE
CONJUGACION

| AHORA B |

aparir

Inf: aparir e Ger: apariendo e Part: aparido

Indicativo

Pretérito perfecto

Presente . Pretérito imperfecto
simple
yo | aparo apari aparia
ta | apares apariste aparias
el/ella/ud. | apare apario aparia
nosotros | aparimos aparimos apariamos
vosotros | aparis aparisteis apariais
ellos/ellas/uds. | aparen aparieron aparian
Futuro Condicional
yo | apariré apariria
ta | apariras aparirias
el/ella/ud. | aparira apariria
nosotros | apariremos apaririamos
vosotros | apariréis apaririais
ellos/ellas/uds. | apariran aparirian
Subjuntivo
Presente Pretérito Imperfecto
yo | apara apariera / apariese
ta | aparas aparieras / aparieses
el/ella/ud. | apara apariera / apariese
nosotros | aparamos apariéramos / apariésemos
vosotros | aparais aparierais / aparieseis
ellos/ellas/uds. | aparan aparieran / apariesen
Imperativo
Afirmativo Negativo
yo | — -
ta | apare no aparas
el/ella/ud. | apara no apara
nosotros | aparamos no aparamos
vosotros | aparid no aparais
ellos/ellas/uds. | aparan no aparan
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